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1. No calculator

(i) y = 8x (ii) C = 5t

x = 3 t = 6

Find the value of y Work out the value of C

(i) . . . . . . . . . . (ii) . . . . . . . . . .

(iii) m = 2n (iv) x = 4

n = 7 Work out the value of 7x

Work out the value of m

(iii) . . . . . . . . . . (iv) . . . . . . . . . .

(v) W = 4y (vi) q = 7p

Work out the value of W when y = 3 p = 3

Find the value of q

(v) . . . . . . . . . . (vi) . . . . . . . . . .

2. y = 4n

Work out the value of y when n = 5

2. . . . . . . . . . . . . .

3. n = 5m

m = 7

Find the value of n

3. . . . . . . . . . . . . .

Answers 1 (i) 24 (ii) 30 (iii) 14 iv) 28 (v) 12 (vi) 21 2) 20 3) 35

cbna To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited


